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LIBARRY IEEE;
USE IEEE.STD_LOGIC_ 1164 .ALL;
ENTITY MYCIR 1S

PORT ( XIN, CLK : IN STD_LOGIC;

YOUT : OUT STD_LOGIC);

END MYCIR;
ARCHITECTURE ONE OF MYCIR 1S

SIGNAL A, B, C;
BEGIN

B <= XIN OR A;

PROCESS (CLK)

BEGIN

IF CLK”EVENT AND CLK = <1” THEN
A= G
Cis IBE
END IF;

END PROCESS;

YOUT <= C:
END ONE;
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Library ieee;

Use ieee.std logic 1164.all;

Use ieee. std logic unsigned. all;

Entity cnt64 is
Port ( ClklIne, Cntclr : in std logic; — W E S R B E SN
Wraddr : out std logic vector (5 downto 0) ):
End cnt64;

Architecture one of cnt64 is
Begin
Process (clkinc, cntclr)
Variable counter : std_logic_vector (6 downto 0);

Begin
If cntclr = “1” then counter := (others => “07);
Elsif clkinc = “1” and clkinc’event then counter := counter + 1;
End if;
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Wraddr <= counter;

End process;
End one;
4.
Library ieee;
Use ieee.std logic 1164.all;
Use ieee. std logic unsigned. all;
Entity control is

Port ( CLK, STATUS : in std logic; K LRSI =REL 1PN
ADDATA . in std logic vector (7 downto 0); — #HEARHmAN
CS, CE, A0, RC, K12 8 : out std logic; — ADS74¥HI(=
=
ClkInc : out std logic; — HbRETI B S
rddata : out std logic vector (7 downto 0) ); — #:¥¥diimH

End control;

Architecture behave of control is
Type sm_state is (sO, sl, s2, s3, s4);
Signal c_st, n_st : sm_state;
Signal lock : std logic;
Signal regdata : std_logic_vector(7 downto 0);
Begin
K12 8 <= “07;
AO <= “17;
Process (clk)
If clk’event and clk = “1” then c_st <= n_st; end if;
End process;
Process (c_st, status)
Begin
Case c_st is
When s@ => n_st <=[sl; rc <= “1”; ce <= f07; cs <= “1°;|lock <= “0f;
When sl => h_st <=Is2; rc <= “0°; ce <= “17%; cs <= “0; lock <= “07;
When s2 => if status = “0” then n_st <= s3; else n_st <= s2;
Rc <= “17; ce <= “1” cs <= “07; lock <= “07;
When s3 => n_st <= s4; rc <= “17; ce <= “17; cs <= “07; lock <= “17;
When s4 => n_st <= s0; rc <= “17; ce <= “17; cs <= “07; lock <= “07;
When others => n_st <= s0;
End case;
End process;
Process (lock)
Begin
IT lock’event and lock = “1” then
Regdata <= addata;
Clkinc <= “17;
Else
Clkinc <= “07;
End if;
End process;
Rddata <= regdata;
End behave;
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Library ieee;
Use ieee.std_logic_1164.all;
Entity mooreb is
Port (clk, reset : in std_logic;
Ina : in std_logic_vector (1 downto 0);
Outa : out std_logic_vector (3 downto 0) );
End mooreb;
Architecture one of mooreb is
Type ms_state is (stO, stl, st2, st3);
Signal c_st, n_st : ms_state;
Begin
Process (clk, reset)
Begin
If reset = “1” then c_st <= st0;
Elsif clk’event and clk = “1” then c_st <= n_st;
End if;
End process;
Process (c_st)
Begin
Case c_st is
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When stO => if ina = “00” then n_st <= stO;
Else n_st <= stl;
End if;
Outa <= “0101”;

When stl => if ina = “00” then n_st <= stl;
Else n_st <= st2;
End if;
Outa <= “1000”;

When st2 => if ina = “11” then n_st <= stO;
Else n_st <= st3;
End if;
Outa <= “1100”;

When st3 => if ina = “11” then n_st <= st3;
Else n_st <= stO0;
End if;
Outa <= “1101”;

When others => n_st <= st0;

End case;

End process;
End one;
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